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FISA DE EVALUARE : ﬁ

1. Calculati:
23-5X2= 66 -4X5=
45-4X4= 76-6X6=
36-2X9= 85-7X8=
43-5X5= 89-8X7=
23-3X2= 70-8X 8=
2. Complectati tabelul:

a 3 4 7 2 5 6 9 0 8
aX9=
aX8=
aXé6=

3.Cauta rezultatul corect!
3X4+10 69 42 5X6-2
3X5+20 56 32 8X8-5
5X5+30 55 56 7X8-0
4X4+40 35 28 5X9-3
7X7+20 22 59 9X4-4
 +

1..2=3 4..4=16 10...2=12 8..5=40 1..1=1
3...3=6 7..7=49 9..1=10 9...4=36 2...1=2
2.3= 2.9=18 9...1=9 2.9=11 6...1=7
6...6=36 3..3= 9..3=27 7..6=42 5..2=10
4...4=8 6...2=12 5..5=25 3..5=8 2..1=3
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